
GBgu : 3.00 b6 

3 

* 

) 8 

2. B-A sreTLJ B, snelsd A OB srGSTL5 

6. 

) A 

) 5 

sSlsnsTLJnGustssflsa srso�T6Sil�ssos 

) P-(QnR) 

INNGTOT Gu QungI` Gzto - 2024 

V18 

PG SUGled eshst 50 LomoTOussfle 35 Gu G6ÝL TL'LLÎ lsnerunQUaGs LoDMID 20 

s) 2 

A) 

)5 

) (P-Q)U (P-R) 

7 4/72/3 = 

a) 6/10 

)B 

V80 = ky5 616fleù k =? 

)4 

4. PQ LoÓDIÓ R 6iG`TLJGT ST60)aBusoeLpssIDI ES6TTIBJESSdT 6T6fileb, P-(QUR) STG�TS 

5. SloicHNNOoDIsT 6T851 6lescpDI 6T606T SNGU? 

2 

) 30 

3 

8 Vg=92 ofe x= 

) 6 

7 

) 6 

3 

9)U 

3 

) 15 

)-7 

) (Pn Q)-R 

9) 0.01 

F) 7 

) (P-Q)n(P-R) 

9) 8 

F) 

1 

F) 10 

)8 

DgiQuta ct : 100 

r) 13 

Fr) 16 

9 x°+6x+ kx +6 sroug1 (x +2) sd sglsil euguó sils, k Qoi uoSæy asiea? 

14x1=14 

r) 6/21 

r) 11 
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10. 2x +3=0 6r6ßTp usbNJDIæy� Gsn` FDGHLIML4 6ß D6Ob 

11. p(a) =0 6r6le), (X-a) srs�TLISI P(x) oi 

12. yoæUl�n LeDgIDIæ;a GsnDEJ`G IsULBU 
)1 ) 2 

13. QGUTG UST 6T60`TH6flsóT LÐ.6LUM.6u. 
) -1 )0 

)lsusflaGsnooT 

) ASSESSMENT i) PRINCIPAL 

18. Glsuo ULLÔ QGOJE: ()AVB 

14. (ypsGsnsosoit Glsusfi&Gsn608TL� Gts GsroT TÄIESSfls .5G` FDU? 

2 

16. B={1,2,3} 6roiTD S6901GSo C£ 6601H60gå GMGOTES. 

19. suGise (popsow JwsiTUOiSTDs) 

SIGDAGIDD 10 ssmäseTG sio wsf (sflsor 6168ÞT 28 8L Mu lan) 

21. 6GS: 3V75 +5/48 -J243 

5 

20. 2.2360679 ... oDgID 2.236505500 

22. uGonu oilsigiuHIS3/5 

9) 3 

15. SlsitouG5 Glsnjssflgystor sT(LP`SI`Ssf0lsß s601j6oSMÜ ULI4wsi (ypopuls) sTPSIG. 

23. llus) 5fusLqsð sTASIG 
)) 9768854 

) 1 

7 

i) 0.04567891 

17. P={2,3,5,7,11} wjMD Q ={1,3,5,11} u 8TI `ISsflsi sD�BT eM`unso sIGo�tes. 
(ii) AnB 

128 

Fr) ng60fl 

Fr) 4 

2 

r) 2 

) eoitGlenglins GesnG0O1 I`IE,6dT 

IX s6oilzó 

10x2= 20 
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24. 9a?b?c, 15a°b?c uouos L8.Qum.9. GN6THTs. 

25. (x- 1) 6t6TLI5 X° +5x�10x + 4 cß P(H, Grg6Ttlun 6T6T6, ¬5n60Ût5. 

26. 6ng6iliuGs6: x²+2x-80 

28. lg6ssJ5: (x + 5) (x +6) (x +4) 

27. G ndCsnoosis CsnemrBisofleit olilgb 1:2:3 6tstleu (ypåGsnsÉflo plam Gosnr 

3 

IL. STGOA&uoo 10 6lsoméssET i Wsl. (sfsn si6sdt 42 s'1 u flkor) 

29. X=(a,b,c,x,y.z} sre�) 86T01HSeÜ 9L560TTHISGflsi 6T60ÖT6odlas6n6DJLLo, s6 2 L5sTT`IGGfs� 

5T606T6. 
30. U = {a,b,c,d, e, f.g,h}, A = {b,d,f,h} oopJLo B = {a,d,e,h} srGile LlsoGÀ 668116Dens 

i)A' i) B' i) A'U B' iv) A'n B v) (AU BY 

31. A=42,0,1,3,5}, B=(-1,0,2,5,6} LoHDJLD C={-1,2,5,6,7} roilb 

A-(BUC) = (A-B)^A-C) croaTå SI_Q5. 

35. 

33. 4.863 aerit GomLI4s0 GDlssasb. 

34. (PDO8on priG QRnslo j6DID`ES : 35,4,93 

UsGsprisoi. 25 LDm600TO0ss nsla, 30 DM6TTOUE,60 5TL 6`sayb, 8 DTGTOTQUTGit 

J7+2 

IX solsD 

36. eiws susiqs sTSIS: (300000)x (2000) 
37. 2x-6x + mx+4gai RG SIT60l (X-2) 6r6oilsð m ot LoÜy snsTS. 

10x5=50 

38. (8y-16y2 + 16y- 15) + (2y- 1) ot ray, ÑBonua sneits. 
39. x° + 13x2+32x + 20 gg Ggiluw angesilsoTnGä SNT6SfiliuDiza. 

40. (8x-2x + 6x-7)g (2x + 1) y augåa� loniGÜ FHO (4X-2x² + px +q) sioile) 
P, q uogo LbglonwG 6NQ0TE,. 
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41. GlnGasiIULL \ABOC 6æ 606161À Gn 600T _676j65606TTub s160315. 

+35)° 

K27-5) 

4 

42. Glsus` ULÚ GJ6OJS : (AUB)' =A'nB' 

(yalws) 

(47-15) 

(ydwg) 

D 

43. ) LM =7.5 Qs.6, MN = 5 6es LDÓDIo LN = 8 Qls.ß 6T6485(61, (G.ALMN susoTHSI 

IX sosflgs 

**t*** 

2x8=16 

44 )AB = 8 e.6, BC = 6 Ge.f opDJL� ZB= 70° oT46t 67T AABC usJHS. 

) AB =6s.6, ZB= 65° DDDID AC =7 Gls.ß 6TOHsdTST AABC QusoTB AS0T 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

